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1100 − 1190 I4� �����* =�� � �(�2�=����� 4���5�� ��2�(�� X��5�
��5� ��)��#Y*Rvrtx < 1.5 ��* �E� /2�+� /��#(2��� ��)3��� ������5�
(�#��������(�� =#���> � (�1���(�� (#������� ���)3 P4�� ��)3���
5��//���.��� ( �)2#��� ��#=���� Rvrtx ≈ 9 @ ? 9 A ��Q <�4����
/�� XE������ ��)���Y ���)�(#2��- Rvrtx < 1.3 ��* �#� /��#�#�� �#
��� A (�����#2-��� 2����� 

• �5�2 ��E�� ����#�� ψ > 0.5 �#� * �#� /��#�#�� �# ��� $ !�#���
># ��)��# ��)3��� /� 4���� /#�#����� )32# �#������� (3)�#�#
����#��=�� D������* =��)3 ( /��2���.1�� �#��E�� (3=���- ���
��(�. /��2�E�� 
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��� $Z �#�/����2���� ��)3��� /� /�����#���(������ �52� ��E�� ����
�#�� ( ����2���(#��� P�#D���+�(#��#� 5����5�#��#Q � ( 4��/��������
P��=�� � �D�)�#��Q ������� /��#�#� �������� ��)��# /� 4���� /#�#�
����� 

�2����� �#�����-* =�� ( �)2#��� 4���5�� 2Ebeam > mφ ��#��(����
��#=���2-�3� (�2#� ( ��=���� �� ��)3���* ( �����3+ ��E����� /#�3
K0

LK
0
S ��/��(�E�#���� ��2�=����� E�����5� �����# PX(��(�#1���� �#

φ�������3� �����#��YQ �# ��� B /��#�#�� �#�/����2���� ��)3��� /� (��
2�=��� ������#.1�5� ��/�2-�# /�� 4���5�� /�=�# Ebeam = 535 64� 
�����* =�� ��)3��� /��>���# e+e− → K0

LK
0
S ��5�� )3�- ����2��3 ��

��)3��� /��>���# e+e− → K0
LK

0
S(γ) � /���1-. �������� ��)��# /� (��

'



2�=��� ������#.1�5� ��/�2-�# P�#� /��#�#�� (�����#2-�3�� 2������
�# ��� BQ �Z√
E2

beam −m2
K0 − 39.0 64�[� < Pmis <

√
E2

beam −m2
K0 + 39.0 64�[�* 5��

%' & 64� ����(����(��� /��� 4��/�������#2-�3� �#���D����� /� (�2��
=��� ������#.1�5� ��/�2-�# �# ��� B ��=�� � �D�)�#�� �/��3(#.�
�#�/����2���� 4��/�������#2-�3+ ��)3���* # 5����5�#��# ? �#�/�����
2���� ��)3��� ����2���(#��� ��#2�� ��)3��� )�� ��2�=���� E�����5�
�����# /��(�2��� ��#=���2-�� ����-D��- �#��#>�����. /�/�#(�� 

0

100

200

300

400

500

50 75 100 125 150 175 200 225 250

Pmis,MeV/c

��� BZ �#�/����2���� ��)3��� /� (�2�=��� ������#.1�5� ��/�2-�# ��=�
�� � �D�)�#�� �/��3(#.� 4��/�������#2-�3� ��)3���* # 5����5�#��#
����(����(��� ��)3���� ����2���(#��� ������� /��#�#� ��)�� ��)3�
��� /� 4���� /#�#����� /�� #�#2��� ��)3��� )�� ��/���#��� E�����5�
�����# 

� �#���� �#)��� ��=���� �/����2�2��- �(��� �/���)#�� <�� �����
����� ��=���� /��(3� �/���)�� ��)3��� � X(��(�#1����� �# �����#��Y
���2.=#2��- �� #�#2��# ��52#��� ��2�(�.* /��(�������� (3D�* # (� (���
��� �/���)� �#��� ��)3��� �=��3(#2��- 

���2� ��)3��� �/����2�2��- /� �#�/����2���. ��)3��� /� ��(#�
��#����� �#��� �(�+ �����( ( (��D��� �#�/����2���� ( ��#/#���� ��
%@& 64�[�2 �� B&& 64�[�2 #//���������(#2��- ������ �(�+ ����>��

��� ���� ����	
��� ��
���������� � ������ ����
�� �����
� ���
��� ������ � � ��
� � ��
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!#���# � �)1�� �������* �/��3(#.1�+ ��)3��� 4�����#* � ����>���*
�/��3(#.1�� ����(�. /��2�E��* (��#Z

f���(y) = A · yα · (1 − y)β,

5�� /�������#� \ �(��#�# � (�2�=���� ��(#��#����� �#��3 ��52#���
y = x−2mπ

2Ebeam−4mπ
* (�2�=��3 ]* α* β ? /#�#����3 #//������#>�� 
2�

�/����2���� /#�#�����( α � β* # �#�E� ��5� �)��+ ����>�� !#���#
�)F�����2��- �#��3� ( 4���5���=����+ ��=�#+ A7A ? A'A* $&& ? $@A �
$A& ? $'& 64� �# ��� C P#*)*(Q /��#�#�3 �#�/����2���� ��)3��� /� (��
2�=��� ��(#��#����� �#��3 �(�+ �����( ( (��D��� �2� /��>���# � ��2��
=����� E�����5� �����# P���#��#D���3� 5����5�#��3Q � �2� /��>���#
)�� ��2�=���� �����# P�#��#D���3� 5����5�#��3Q ( 4��+ ��#/#���#+
4���5�� (����� � #//���������.1��� ���(3�� <�� �/����2���� =���
2# ��)3��� 4�����# ( �#E��� 4���5���=����� ��=�� ��2-�� (�2�=��# ]
)32# �(�)���# ���#2-�3� /#�#����3 �������(#2��- �# ��#=����+* /��
2�=���3+ ( ����2-�#�� #//������#>�� �#�/����2���� /� ��(#��#�����
�#��� 4��+ �)F�������� ^���(#� /��2�E�# �# ��� CP#*)*(Q �)��2�(2��#*
( ����(���* ��)3����� � �����=������ =#���>#�� � ��)3����� /�=���
(�5� ���# 


2� �>���� ������#��=����� �D�)��* �(��#���� � ����#���� ����3
�#�/����2���� ��)3��� ���#* )32# ��/�2-��(#�# �2���.1#� /��>����# 
� �#E��� ��=�� /� 4���5�� �#�/����2���� /� ��(#��#����� �#��� �(�+
�����( ( (��D��� #//���������(#2��- ( )�2�� �����* =�� ��#��#���3�
P�� %@& �� B&& 64�[�2Q* ��#/#���� _ �� @@& �� A$& 64�[�2 <��2� =��
5� �/����2�2��- ��������2-��� ��������� =��2# ��)3��� P∆Q* �(��#����
� ���������� /#�#�����( ����>��* �/��3(#.1�� ����(�. /��2�E�� 
M# �>���� ������#��=����� �D�)�� )32� /�����3 (�2�=��3 /�2�D����
��������(* ( �����3� /�/#�#2� ����(����(�.1�� ��#=���� ∆ �/�����
2���#� �#��� �)�#��� ������#��=���#� �D�)�# ����#(2��� AL (� (���
��#/#���� 4���5�� 7	 O 9&A& ? 9%C& 64� �2� ��)3��� e+e− → K0

LK
0
S(γ)*

# �2� ��)3��� e+e− → K0
LK

0
S (�2�=��# ������#��=����� �D�)�� /2#(�

�� �������� �� 7L /�� 4���5�� 7	 O 9&A& ? 9&'& 64� �� BL ( �)2#���
4���5�� 7	 O 97B& ? 9%C& 64� 

��#2�5�=�3� �/���)�� �>���(#2#�- �#�E� � ������#��=���#� �D�)�
�#* �(��#��#� � (3)���� ��������( ��)��# �������� ��)��# ��)3��� /�
��/�2-�#� /����(* �52� �#���22���#������ |∆φ| � R��������#�� (��D��
�3 �#�/#�# K0

S → π+π− ������2��- �# (�2�=��� 4��/�������#2-��5�
�#���D���� /� ����(����(�.1��� /#�#����� <��2� 4��5� �/����2�2��-
��������2-��� ��������� ��=���� P∆σ/σQ �(��#��`a � ���������� ��2��
(�� ��)��# "32� /�2�=���* =�� �2� ��)3��� e+e− → K0

LK
0
S(γ) ��#=����
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��� CZ �//������#>�� �#�/����2���� 4��/�������#2-�3+ ��)3��� /�
��(#��#����� �#��� ( ��#/#���#+ 4���5�� Ebeam = A7A ? A'A 64�PbQ*
$&& ? $@A 64�P)Q* $A& ? $'& 64�P(Q M#��#D���3� �#�/����2���� �/��3�
(#.� ��)3��� /��>���# e+e− → K0

LK
0
S* # ���#��#D���3� ? ��)3��� /���

>���# e+e− → K0
LK

0
S(γ) 
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∆σ/σ 2�E#� (����� �������#* /�2�D����# ������5� �������� �� 9L /��
4���5�� 7	 O 9&A& ? 997A 64� �� BL /�� 4���5�� 7	 O 97A& ? 9%C& 64� 
] �2� ��)3��� e+e− → K0

LK
0
S /�2�D����# �������# ��#=���� ���`���

��2-�3+ ��������� ��=���� �#���� �� % AL /�� 7	 O 9&A& ? 99&& 64�
�� $L /�� 7	 O 99&& ? 9%C& I4� ��2�=��3 /�2�D���� ��������( )3�
2� /�����3 �# �>���� ������#��=����� �D�)��* �(��#���� � (3)����
��������( ��)��# 

���5� ��52#��� /��(�����3� (3D� ��2�(���* /��2� (3=��#��� ���#*
)32� /�2�=��� 2865± 58 ��)3��� K0

LK
0
S(γ) � 948 ± 33 ��)3��� K0

LK
0
S 

� ����������� ����
	�����	� �����	�����

� ������������ �������


��� �������	
���
 �����������

;������(����- ��5����#>�� PεregQ ��E�� )3�- /�����#(2��# �#�
/����(������ ���+ 4������(������Z 4������(����� ����������>�� ���
)3��� PεrecQ* 4������(����� ���55��# PεtrigQ � 5�������=����� 4�����
��(����� PεgeomQ 

εreg = εrec · εtrig · εgeom.

!�������=���#� 4������(����- �/����2�2#�- � /���1-. ����2���(#�
��� 
2� 4��5� )32 �#��#)��#� /#��� /��5�#�� /��(�=��5� ����2����
(#��� ��)3��� /��>���# e+e− → K0

LK
0
S(γ)* ( �����3+ �#��#>����3�

����� ��/���#2�� 42�������� �2� /��������� ( �#/�#(2���� �#=#2-�3+
=#���> <����)��� �/��#��� 4��5� /#���# ��E�� �#��� ( <��2�E���� ]
�#����1�5� <��/����# 

!�������=���#� 4������(����- �/����2�2#�- �2� �(�+ �2�=#�(Z ��5�#
�2� #�#2��# ��)��#.��� (�� ��)3��� ���=#���5� /��>���#* � ��5�# ��
#�#2��# ���2.=#.��� ��)3��� � X(��(�#1����� �# �����#��Y M�#=����
5�������=����� 4������(����� (3=��2�2��- /� �����2�Z

ε =
Ndet

Ntot
,

5�� Ndet ? =��2� �#��5�������(#��3+ ���������� ��)3���* Ntot ? /�2���
=��2� �#����2���(#��3+ ��)3��� 

6���2���(#��� )32� ���2#�� ( @ 4���5���=����+ ��=�#+ ( ��#/#����
Ec.m. O 9&A& ? 99'& 64� /� A&&&& ��)3��� ( �#E��� ��=��* � ( A 4���5��
��=����+ ��=�#+ ( ��#/#���� Ec.m. O 97&& ? 9%C& 64� /� 7&&&&& ��)3���
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��� 'Z M#(�������- 5�������=����� 4������(����� �� 4���5�� �2� �2��
=#�* ��5�# ��)3��� � X(��(�#1����� �# �����#��Y ��/�2-��.��� ( #�#2��
�� P��=��*�)���#=���3� �#/�2����3�� ���E�#��Q � ��5�# �#��� ��)3���
���2.=#.��� �� #�#2��# P��=��* �)���#=���3� �#/�2����3�� ����5�2-�
���#��Q 

( �#E��� 4���5���=����� ��=�� M#(�������- 5�������=����� 4������(�
����� �� 4���5�� #//���������(#2��- ����>��� (��#Z

εgeom(E) = A · exp(− (Ec.m. − 1040.0)
B

) + C,

5�� Ec.m. ? 4���5�� ( ������� >����# �#��* ( 64�* A,B,C ? /#�#����3
#//������#>�� <�2�=���#� ���(#� ��/�2-��(#2#�- �#��� /�� (3=��2��
��� 5�������=����� 4������(����� (� (��+ 4���5���=����+ ��=�#+ �#
��� ' /��#�#�3 �#(�������� �� 4���5�� 5�������=����+ 4������(������
�2� ��)3��� e+e− → K0

LK
0
S(γ) P��=��Q � �2� ��)3��� e+e− → K0

LK
0
S

P����5�2-����Q �# ��� E� ������� /�����#(2��3 � #//���������.1��
���(3� ����-D���� 5�������=����� 4������(����� � ������ 4���5��
�(��#�� � ����-D����� =��2# ��)3��� �#�/#�# K0

S → π+π− ( �#�#��
��� ��#/#���� �#�������� �� ��� /�=��( �� (��D��3 �#�/#�# �2����
�� �#�E� �#�����-* =�� /�� ��2�=���� E�����5� �#��#>�����5� �����#
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4���5�� /#�3 K0
LK

0
S ����-D#����* =�� /��(���� � )�2-D��� ��#=���.

5�������=����� 4������(����� �2� ��)3��� K0
S → π+π− ( /��>����

e+e− → K0
LK

0
S(γ) /� ��#(����. �� ��#=����� 5�������=����� 4�����

��(����� �2� /��>���# e+e− → K0
LK

0
S

;������(����� ����������>�� ��)3��� � ���55��# �/����2�2��- �#
����(� ��#2-�3+ ����=����+ ��)3��� � /���1-. /��>����* �/��#��3+
( <��2�E���� U �#���5� <��/����# �#� �#� =��2� ��)3��� /��>���#
e+e− → K0

LK
0
S )3���� /#�#�� /�� ��#2���� /� 4���5�� �� φ �����#��#*

�� �2� �/����2���� 4������(����� ����������>�� ��)3��� �)F������
2��- �#��3� �����2-��+ 4���5���=����+ ��=�� ����� ��5�* (���#��#��
=��2� ����(3+ ��)3���* /�4����* �#��E�� (3��2��- X�����(3�Y ��)3���
��#2��- 2�D- �� 4���5�� 9 7' !4� ( ������� >����# �#�� 

"32� �/����2��3 ��#=���� 4������(����� ����������>�� ��)3���
( ��#/#���#+ Ec.m. = 1.05 − 1.08 !4�* Ec.m. = 1.09 − 1.19 !4� �
Ec.m. = 1.2 − 1.29 !4� �# ��� 9& /��#�#�3 �#(�������� 4������(�����
����������>�� ��)3��� �� 4���5�� /�=�# ( ����2���(#��� P����5�2-�
����Q � ( 4��/�������� P���5�Q �����* =�� ( ����2���(#��� 4�����
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��(����- ����������>�� ��)3��� �� �#(���� �� 4���5�� ;������(����-
����������>�� ��)3��� ( 4��/�������� �� /����(���=�� �#��� 5�/����� 

�//���������1�� /�������3� ����>�� /��#�#�3 �# ��� 9& 2�����
�� � ����2-�#�� #//������#>�� )32� /�2�=��3 �2���.1�� ��#=����
4������(����� ����������>�� ��)3��� ( ����2���(#��� � ( 4��/����
�����Z

εrec = 0.950 ± 0.018 P4��/�������Q*
εrec = 0.982 ± 0.003 P����2���(#���Q 
c���+�(��� �# ������� 9& (3��2��# �)2#��- ±1σ #//������#>�� �#�

(�������� 4������(����� ����������>�� ��)3��� �� 4���5�� ( 4��/����
����� 

;������(����- �#��E����5� ���55��# PεtrigQ /�����#(2��� ��)�� /���
��(������ 4������(����� �����(�5� /��>�����# 87A: PεTF Q � 4������(���
��� JTK��#2�������# ( ����#(� ���55��# PεCsIQ ;������(����- ���55��#
�2� ��)3��� ����2���(#��� ����#(2��� 9&&L 
2� 4��/�������#2-�3+
��)3��� � /���1-. /��>����* �/��#��3+ ( <��2�E���� U �#����1�5�
<��/����#* )32� /�2�=���Z

εTF = 0.995 ± 0.001 , εCsI = 0.986 ± 0.003 , εtrig = 0.981± 0.003 .
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�(��#�# � �#�2�=��� ��#=���� 4������(����� ����������>�� ��)3���
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�#��#>����3� /�/�#(�� �#��=��3(#2��- ������� 6������#�2� � /��
��1-. �����2 �� �#)��3 87B: ��/�2-��(#��� �����# 6������#�2� /���
(�2��� �=���- �5�#��=���� �# �����#���� ��)3��� �#��� �5�#��=�����
( �#���� #�#2��� �(2�2��- ��2�(�� ��)��# ��)3��� /� (�2�=��� ������#�
.1�5� ��/�2-�# /�� (3��2���� ��)3��� )�� X(��(�#1���� �# �����#��Y 
;�� ��2�(�� /��(���2� � ����-D���. �#��#>������ /�/�#(�� � (�2��
=��3 δrad ∼ @A&L /�� 4���5�� Ec.m. = 1.38 !4� �� ��#=���� δrad ≈ �'L
(� (��� ��#/#���� 4���5�� �#�/����2���� ��)3��� /� (�2�=��� �����
��#.1�5� ��/�2-�# )32� /��#�#�� �# ��� B (����� � ��������� ��)��#
��)3��� /� 4���� /#�#����� 

�# ��� 99Pb*dQ /��#�#�3 �#(�������� �#��#>������ /�/�#(�� �� 4����
5�� �2� �2�=#�* ��5�# ( #�#2��� ��/�2-��.��� ��)3��� e+e− → K0

LK
0
S(γ)
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��� ( #�#2��� ��)3��� e+e− → K0

LK
0
S(γ) PbQ � /�� ���2.=���� ��)3���

� X(��(�#1����� �# �����#��Y �� #�#2��# PdQ 

P��� 99bQ* � ��5�# ��)3��� �� X(��(�#1����� �# �����#��Y ��)�#��(3(#�
.��� ��������� ��)��# /� ������#.1��� ��/�2-�� P��� 99dQ 


2� �#�=��# �#��#>����3+ /�/�#(�� ( �#E��� 4���5���=����� ��=��
����2���(#2��- 9&&&&&& ��)3��� ;�� /��(�2�2� (3=��2��- �#��#>����
��. /�/�#(�� /�� #�#2��� ��)3��� /��>���# e+e− → K0

LK
0
S(γ) �� ��#���

���=����� ��=����-. & @L � ��#�����=���#� ��=����- �#�=��# �#��#>��
����� /�/�#(�� �2� ��)3��� /��>���# e+e− → K0

LK
0
S ����#(2��� & BL 

<�� �>���� ������#��=����� �D�)�� ( (�2�=��� �#��#>������ /�/�#(��
)32� �=���� (2����� �#���D���� /� ������#.1��� ��/�2-�� /�� (3���
2���� ��)3��� /��>���# e+e− → K0

LK
0
S � (2����� ����3 �������=����5�

��=���� �# (�2�=��� �#��#>������ /�/�#(�� 
"32� /�2�=���* =�� /�� ��������� �������� ��)��# ��)3��� /� �����

��#.1��� ��/�2-��* |pmis −
√
E2

beam −m2
K0 | < 39.0 64�[�* �# (�2�=���

�#���D���� /� 4���� /#�#����� Pσpmis = 7 64�[�Q (�2�=��# �#��#>����
��� /�/�#(�� ( 4���5���=����+ ��=�#+Ec.m. = 1050 � 9&$& I4� ���������
�� �# 9&L � 7 AL ����(����(���� ;�� ��#=���� )32� /�����3 �# �>����
������#��=����� �D�)�� ( �#��3+ ��=�#+ � �(#��#��=�� ��)#(2��3 �
��#�����=����� �D�)�#� ����(����(�.1�+ ��=���� � ���#2-�3+ 4����
5���=����+ ��=�#+ ��������� �#��#>������ /�/�#(��* �(��#���� � (2��
����� �#���D���� /� ������#.1��� ��/�2-��* ����#(�2� ����� & &9L 
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� �#=���(� �������=����5� ��=���� /�� �#�=��� �#��#>����3+ /�/�#�
(�� ��/�2-��(#2��- /�����#�#��� 6���2� ��������� 
����#������� �
(�2#�#�� �� ρ, ω, φ ������( � ����5� (3�D�5� �����#��# _ φ(1680) <#�#�
����3 �����#���( (���3 �� 87C: M#(�������- D����3 φ(1680) �� 4���5��
)32# (3)�#�# �#� � ρ(770)������# ( �#)��� 8C: <�� 4���* ��52#��� 87C:*
/���/�2#5#2��-* =�� ��������.1�� �#�/#��� φ(1680)������# �(2�����
φ(1680) → K∗(892)K <�2�#� D����# φ(1680)������# ��(����# � ��=���
��-. %&L ��������� �#��#>������ /�/�#(�� /�� ��������� /�2��� D��
���3 φ(1680) �# (�2�=��� �D�)�� )32� /������ �# �>���� ������#���
=����� �D�)��* �(��#���� � (2������ ����3 �������=����5� ��=����*
��/�2-�����5� /�� �#�=��� δrad "32� /�2�=���* =�� � ������ 4���5��
Nc.m. �� 9%&& 64� �� 9%C& 64� ��������� �#��#>������ /�/�#(��* �(��
�#���� � ���������� �������=����5� ��=����* �#���� �� & 'L �� 7L �2�
��)3��� /��>���# e+e− → K0

LK
0
S(γ)* � ����#(2��� ���2� & %L �2� ��)3�

��� /��>���# e+e− → K0
LK

0
S � ���#2-�3+ 4���5���=����+ ��=�#+ �����

����� �#��#>������ /�/�#(��* �(��#���� � ���������� �������=����5�
��=����* ����#(�2� ����� & 9L ;�� (�2�=��3 � )32� /�����3 �#�� �#
�>���� ������#��=����� �D�)��* �(��#���. � (2������ ����3 ��������
=����5� ��=����* ��/�2-��(#���5� /�� �#�=��� �#��#>����3+ /�/�#(�� 

 ���������� ������!

� �#E��� 4���5���=����� ��=�� ��=���� �#��=��3(#2��- /� �����2�Z

σ =
N

Lεreg(1 + δrad)
,

5�� δrad ? �#��#>����#� /�/�#(�#* N ? =��2� ��)3���* L ? ����5�#2-�#�
�(�������-* �/����2���#� � /���1-. /��>����3* �/��#���� ( 87':* εreg

? 4������(����- ��5����#>�� 
�# ��� 97 /��#�#�# �#(�������- ��=���� /��>���# e+e− → K0

LK
0
S ��

4���5��* /�2�=���#� ( �#���� �#)��� M#/�2����3� ��=�� ����(����(��
.� �2�=#.* ��5�# ��)3��� � ��/���#���� E�����5� �#��#>�����5� ���
���# ��/�2-��(#2��- /�� �#�=��� ��=����* # �#/�2����3� ����5�2-����
�����������.� ��=���� /��>���# e+e− → K0

LK
0
S ( �2�=#�* ��5�# ��)3�

��� � X(��(�#1����� �# �����#��Y ���2.=#2��- �� #�#2��# ���(#� �#
��� 97 /�����#(2��� ��)�� �������=����. �#(�������- ��=���� ���=#��
��5� /��>���# ( �#��#+ 6���2� ��������� 
����#������� � (�2#�#��
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��� 97Z M#(�������- �� 4���5�� ��=���� /��>���# e+e− → K0
LK

0
S M#/�2�

����3� ��=�� ����(����(�.� #�#2��� ��)3��� K0
LK

0
S(γ)* �#��5��������

(#��3+ ����������* # �#/�2����3� ����5�2-���� �����������.� #�#2��
�#��3+* ( ������� ��)3��� K0

LK
0
S � X(��(�#1����� �# �����#��Y ��)�#�

�3(#.��� ���(#� �# ������� ? /�����#�#��� 6���2� ��������� 
����
�#������� � (�2#�#�� ρ(770)* ω(782), φ(1020) ������( 

�� ρ(770), ω(782) � φ(1020) ������(* ��52#��� �����2�Z

σ(s) =
πα2

12
· Φ2K0(s)

s5/2

∣∣∣∣−gργgρKK̄

∆ρ
+
gωγgωKK̄

∆ω
+
gφγgφKK̄

∆φ

∣∣∣∣
2

,

5�� Φ2K0 = (s− 4 ·m2
K0 · c4)3/2 ? ��) ��/�2-�# �����#2-��5� �#��#* gV γ *

gV KK̄ ? �����#��3 �(��� (�������5� �����# e � ������� � � /#��� �#���(
����(����(����* ∆V = s − m2

V + ı
√

(s)ΓV (s) ? /��/#5#��� (�������5�
�����# e � �#(�������-. D����3 �� 4���5�� �#� ( �#)��� 8C: �����#��3
�(��� (������3+ ������( � ������� gV γ (3=��2�2��- � ��/�2-��(#����
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��#=���� 2�/����3+ D���� (������3+ ������( ΓV →ee ��52#��� �����2�Z

gV γ =

√
3M3

V ΓV →ee

4πα2
,

5�� MV ? �#��# (�������5� �����# 
������D���� ��E�� �����#��#�� �(��� (������3+ ������( � /#���

�#���( )32� (���� �� /�����#�#��� fgP%Q ��������� � ���#2-�3� ����
D�(#���� 8B:Z

gρKK̄ = gωKK̄ =
1√
2
gφKK̄ .

M�#=���� �#�� � D���� �����#���( (���3 �� 87C: �� ������# (����
��/2�+�� ��52#��� ��E�� ��#=������ ��=����*��������3+ �(��� �/����
)#��Z � ��/�2-��(#���� ( #�#2��� ��)3��� � X(��(�#1����� �# �����#��Y
� /�� ���2.=���� �#��+ ��)3��� �� #�#2��# 

�2����� �������-* =�� ��������2-�#� ��#�����=���#� �D�)�# �������
��� ��=���� /�� #�#2��� ��)3��� e+e− → K0

LK
0
S(γ) )�2-D�* =�� ��#���

���=���#� �D�)�# ��������� ��=���� /�� #�#2��� ��)3��� )�� X(��(�#�
1���� �# �����#��Y ;��� �#�� �)F�������� ���* =�� ( (�2�=��� �D�)�
�� �#.� (�2#� �2����#>�� /�2��5� =��2# ��)3���* # (�2�=��� ��=����
( �)��+ �2�=#�+ �/����2�.� ��2-�� ��)3���* ( �����3+ �#��#>����3�
����� �� ��2�=#2�� ��=���� /��>���# e+e− → K0

LK
0
S * /�2�=����� /��

#�#2��� ��)3��� )�� ��2�=���� E�����5� �����#* � �(2����� ����2-�#�
��� �#���� �#)��3 ���=���� /��>���# e+e− → K0

LK
0
S(γ) )32� (3/�2�

���� ��2-�� �2� /��(���� ��52#��(#������ ��E�� 4��/�������#2-�3�
��=����� ��E����� /#�3 �#���( � �������=����� ��=�����* � /���1-.
������5� �#��=��3(#2��- �#��#>����3� /�/�#(�� 

���2� ��)3��� � ��=���� /��>���# e+e− → K0
LK

0
S ( �#E��� 4���5��

��=����� ��=�� /��(����3 ( �#)2�>� 9 � �#)2�>� 9 /��(#� �D�)�# (
(�2�=��#+ ��=���� ? ��#�����=���#�* (���#� ? ������#��=���#� 

;���5�� ( �#E��� ��=�� �/����2�2#�- /� (�2�=��� �#5�����5� /��
2� /�(�����3+ �#5����( �;<<�76 �D�)�# ( (�2�=��� 4���5�� ���
��(����(��� �#�)���� 4���5�� ( /�=�� /�� �#)��� ��������2� )�� ���
/�2-��(#��� �(��+/��(���1�5� X(�552��Y��#5���# 8%&: � �)2#��� 4���5��
Ec.m. > 1200 64� �#��3� �����2-��+ 4���5���=����+ ��=�� �)������2��-
� 4���5�� ( 4��� �2�=#� �/����2�2#�- �#� ������(�(�D����� ��#=���� �
�#=���(� (���( ��/�2-��(#2��- (�2�=��3 ����5�#2�( �(�������� 
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�#)2�># 9Z ���2� ��)3��� � ��=���� /��>���# e+e− → K0
LK

0
S ( �#E���

4���5���=����� ��=�� <��(#� �D�)�# ( (�2�=��#+ ��=���� ? ��#������
=���#�* (���#� ? ������#��=���#� 

√
s*64� h σ*�)

9&A& &±& %$ %9& '±9B C 9B @@±9 &7±& CA
9&$& &±& %$ 97@ 9±99 % 99 $9±9 &B±& AB
9&B& &±& %$ B$ 9±C ' B 9&±& C@±& %A
9&C& &±& %$ %' %±$ $ A 7B±& C'±& 7$
9&'& &±& %$ A% &±B A A &C±& B%±& 7A
99&& &±& %$ 7' &±A A @ 7%±& C&±& 79
999& &±& %$ %% A±$ 9 % @'±& $@±& 7'
997& &±& %$ 9C 7+4.9

−4.2 7 BA+0.74
−0.63±& 7%

99%& &±& %$ 9@ B+4.2
−3.6 7 7&+0.63

−0.54±& 9C
99@& &±& %$ 7A A+5.7

−5.0 7 B@+0.61
−0.54±& 7%

99A& &±& %$ 9B C+4.8
−4.1 7 B9+0.73

−0.62±& 77
99$& &±& %$ 9B 7+4.8

−4.1 9 A@+0.43
−0.37±& 9%

99B& &±& %$ 9% '+4.2
−3.5 9 '$+0.59

−0.49±& 9$
99C& &±& %$ 9A 9+4.6

−3.9 9 %'+0.42
−0.36±& 97

99'& &±& %$ 7& '+5.3
−4.6 9 $C+0.43

−0.37±& 9@
97&@ $±& 7@ 9' B+5.6

−4.9 & C@+0.24
−0.21±& &B

977A &±& 7@ 7$ '+6.0
−5.3 9 99+0.25

−0.22±& 99
97A& $±& 9C 79 %+5.7

−5.3 & A$+0.15
−0.14±& &A

97BA &±& 7@ 9C B+5.8
−5.0 & A@+0.17

−0.14±& &A
97'A C±& 7@ 7& 7+6.0

−5.2 & @C+0.14
−0.12±& &A

9%7A %±& 9C 99 7+6.2
−5.4 & 9C+0.10

−0.09±& &7
9%$C %±& 9C 7& B+6.6

−5.9 & 7A+0.08
−0.07±& &7

" #����$ ���	�%�	����
�� �&���


����#��#� ������#��=���#� �D�)�# ��������� ��=���� �2� ��)3�
��� e+e− → K0

LK
0
S(γ) (���#��#�� �� A CL ( �)2#��� 4���5�� Ec.m. =

1050 − 1125 64� �� ' &L ( �)2#��� 4���5�� Ec.m. = 1250 − 1380 64� 

2� ��)3��� e+e− → K0

LK
0
S ������#��=a��#� �D�)�# ��������� ���

=���� ���������� �� @ 'L /�� Ec.m. O 9&A& ? 99&& 64� �� ' $L /��
Ec.m. = 1270 − 1380 64� ����(��� (�2#� ( (�2�=��� ������#��=�����
�D�)�� �#.� ������#��=���#� ���/����2������- (3=��#��� ���# � ���
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����#��=���#� ���/����2������-* �(��#��#� � (3)���� ��������( ��)��
�# PA 9 ? C $L �2� ��)3��� e+e− → K0

LK
0
S(γ) � @ & ? ' 7L �2� ��)3�

��� e+e− → K0
LK

0
S ����(����(����Q ������#��=���#� �D�)�# ���������

��=����* �(��#��#� � �#��#>����3�� /�/�#(�#��* �#(���� �� 4���5����
=����� ��=�� � )32# �(#��#��=�� ��)#(2��# � (�2�=��� ��#�����=�����
�D�)�� ����(����(�.1�5� ��=���� ����#��3� (�2#� ���#2-�3+ �#����
��( ����#(2��� 7 CL � ��2#�3(#���� ��

? ������#��=����� �D�)�� ( (�2�=��� �(�������� _ 7Li

? ������#��=����� ���/����2������� �/����2���� 4������(�����
��5����#>�� _ 9 'L 

<����)�� �������# �>���� �#E��5� �� (�2#��( ( ������#��=����.
�D�)�� ��������� ��=���� �)��E�#���� ( ����(����(�.1�+ 52#(#+ �#�
����D�5� <��/����# 

' (�	�����	���! ��$)�*	�	��

�# ��� 9% /�����#(2��3 ����2-�#�3 ��������� ��=���� /��>���#
e+e− → K0

LK
0
S ( �)2#��� 4���5�� 9 & ? 9 C !4�* /�2�=���3� �# ��������#+

��G 897: P���#/�2����3� ���)3Q* HI9 89%: P�#/�2����3� ����5�2-����Q*
��
 89B: P�#/�2����3� �(#��#�3Q # �#�E� ( �#���� �#)��� P�#/�2����
�3� ��=��Q �#� (���� �� ������#* ����2-�#�3 �#����1�5� 4��/�������#
+���D� ��52#��.��� � ����������� 5��// ���������( ��
 � ��G � ��3�
��.��� � �����������* (3/�2����3�� �# ��������� HI9 

M#(�������- ��=���� �� 4���5�� ( �)2#��� Ec.m. = 1.0 − 1.38 !4�*
/�2�=���#� ( �#����1�� �#)���* #//���������(#2#�- ( �#��#+ 6���2�
��������� 
����#������� P6�
Q � (�2#�#�� ρ(770), ω(782) � φ(1020)
������( � ����2-�#�� #//������#>�� �/����2�2��- ��#=���� ��=���� (
/��� φ(1020)* # �#��3 � D����3 (��+ �����#���( )32� (���3 �� 87C: 
�//���������.1#� ���(#� /��#�#�# �# ��� 9% ��=�=��� 2�����* # (��
2�=��# ��=���� ( /���* /�2�=���#� /�� #//������#>��* /��(����# ( �#�
)2�>� 7 

�� ��� 9% (����* =�� ( �)2#��� 4���5�� (3D� 9 % !4� 4��/�������#2-�
�3� ��=�� 2�E#� (3D� /�����#�#��� 6�
 � ρ(770), ω(782), φ(1020) ���
���#��#�� ���)3 /�/3�#�-�� �=���- 4�� /��(3D����* ( �������=����.
���(�. )32 ��)#(2�� (�2#� ����5� (3�D�5� �����#��# _ φ(1680) � ( ���
��2-�#�� #//������#>�� �/����2�2��- ��=���� ( /��� φ(1020) � φ(1680)
������( <�2�=���3� ��#=���� ��=���� /��(����3 ( �#)2�>� 7* # �����
(����(�.1#� ���(#� /��#�#�# �# ��� 9% �/2�D��� 2����� �����* =��
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● CMD-2
■ SND
▲ DM1
✧ OLYA

��� 9%Z M#(�������- ���������5� ��=���� /��>���# e+e− → K0
LK

0
S

�� 4���5�� � �������=����� �/��#��� 4��� �#(�������� ( �#��#+ 6��
��2� ��������� 
����#������� ��=�=�#� 2���� ����(����(��� (�2#�
�#� �� ρ(770), ω(782), φ(1020) ������(* # �/2�D�#� 2���� ? (�2#�#�
ρ(770), ω(782), φ(1020) � φ(1680) ������( 

�#)2�># 7Z <#�#����3 φ(1020) � φ(1680)* /�2�=���3� /�� #//������#>��
�#��3+ ( �)2#��� 4���5�� 9 & ? 9 %C !4� ( �#��#+ 6���2� ��������� 
��
���#������� � (�2#�#�� ρ(770)* ω(782)* φ(1020) � ρ(770)* ω(782)* φ(1020)*
φ(1680) ������(

ρ, ω, φ ρ, ω, φ, φ′

σ0(φ(1020))*�) 9%$7 ±9@ 9%AB±9A
σ0(φ(1680))*�) ? & AC ±& 9%

χ2/n.o.f 7$ &%[%& 7$ A$[7'

7%



��=���� ( /��� φ(1680)* /�2�=����� ( �#���� �#)��� +���D� ��52#������
� ����2-�#�#�� 5��//3 HI9 89%:* b ��=���� ( /��� φ(1020)* /�2�=���3�
�#� ( �#��#+ 6�
 � ρ(770)* ω(782)* φ(1020) �#� � ( �#��#+ 6�
 � ρ(770)*
ω(782)* φ(1020) � φ(1680) +���D� ��52#��.��� �� ��#=����� �� �#)��3 8C: 

M�#=���� χ2 #//������#>�� ��#�3(#.� �# +���D�� ��52#��� ��E��
��������3� ��=����� � �)���� �������=������ ����2���* �� �� /��(��
2�.� ���2#�- (3)�� ( /�2-�� �#����2�)� �� ��+ 

+ ,�
�-�����

��/�2-��� '@C ������������(#��3+ ��)3��� /��>���# e+e− →
K0

LK
0
S* �#��5�������(#��3+ ���������� �6
�7* )32� (3/�2���� ���

������� ��=���� /��>���# e+e− → K0
LK

0
S ( �)2#��� 4���5�� Ec.m. =

1.05 − 1.38 !4� ( ������� >����# �#�� <�2�=���3� ����2-�#� ( �)2#�
��� 4���5�� (3D� 9 % !4� �� /����(���=�� ��1���(�(#��. �����#��#
φ(1680) 

������#��=���#� �D�)�# ��������� ��=���� �/����2�����* ( ����(�
���* ������#��=����� �D�)��� (3=��#��� ���# � (3)��# ��������( ���
)��# � /2#(�� ���������� �� (�2�=��3 @ 'L ( �)2#��� 4���5�� Ec.m. =
1.05 − 1.09 !4� �� (�2�=��3 ' $L ( �)2#��� 4���5�� Ec.m. = 1.38 !4� 

�(���3 (3�#E#.� )2#5��#�����- ��22����(� ��������2-���
�#��/���2-��5� ���/2���# �;<<�76 �# �)��/�=���� �#)����/���)�����
���/2���# (� (���� 4��/�������# 


#��#� �#)��# /�����E#�# 5�#���� Khj]f ''�&&&%B 

. /�
�	 ������%% ���������� %����������

��! ����	�� e+e− → K0
LK

0
S(γ)

<��>����� ����2���(#��� ��)3��� ��E�� ��2�(�� �#���2��- �# �(#
/��2���(#��2-�3+ D#5#Z

9 6���2���(#��� ��/���#��� �#��#>�����5� �����# 

7 6���2���(#��� ��E����� /#�3 K0
LK

0
S

<��2���.1�� �#�/#�3 �����#2-�3+ �#���( � /��+�E����� =#���> =��
��� �������� ����2������� �#��#)��#���� ( ��22#)��#>�� �6
�7 /���
5�#���� JIH7fKI 8%9: �# ����(� /#���# /��5�#�� VN]hj 8%7:

7@



<��(3� 4�#/ (�2.=#�� ( ��)� (3=��2���� ��=���� σ(s) /��>���#
e+e− → K0

LK
0
S(γ)* �/����2���� �#��#>������ /�/�#(�� δ = σ̃(s)/σ(s) −

1.0 � �/����2���� 4���5��* ��������� �#��#>����3� �������* ( ����(���
��(�� � (�2�=���� ��=���� σ̃(s) 

�# (����� 4�#/� �/����2����� �������- �(�E���� ������3 >����#
�#�� ��������2-�� 2#)��#������ /��2� ��/���#��� �#=#2-�3�� =#���>#�
�� �����# (��2- �#/�#(2���� �#=#2-�3+ /�=��(* ��E����� /#�3 K0

LK
0
S

( ������� >����# �#�� � /����=�� +#�#��������� =#���> P4���5�� � ����
/����� ��/�2-��(Q ( 2#)��#�����. ������� ��52#��� /���)�#��(#����
�����># 

�3=��2���� ��=���� σ̃(s) (3/�2��2��- /� �����2� �� �#)��3 87B:Z

σ̃(s) =
∫∫

σ(s(1 − x1)(1 − x2))D(x1)D(x2)dx1dx2,

5�� σ(s) _ �������=����� )����(���� ��=����* T _ �(#��#� 4���5�� ( ���
����� >����# �#��* D(x1) _ (���������- ��/���#��� 42�������� �����#*
�����1�5� ��2. 4���5�� x1 �� 4���5�� /�=�#* D(x2) _ (���������- ��/���
�#��� /��������� �����#* �����1�5� ��2. 4���5�� x2 �� 4���5�� /�=�# 
����5����(#��� /� /�������3� x1, x2 (3/�2������ �� x = 0 �� �����
����5� �#����#2-��5� ��#=���� xmax* �/����2����5� �)3=�� ��2�(����
4��/�������# 

�3=��2���� (3/�2��2��- ������� 6������#�2� ^���>�� D(x) ����
�� ���)������- ( ��=�� x = 0 (��# D ∼ 1/x* =�� /��(���� � �#�+��������
����5�#2# � �#���� ����#>�� /����/#.� �2���.1�� �)�#���Z �� ��=��
x = 0 �����/#.� �# �#�������� ∆ P∆ ∼ 10−5)* # �� ����>�� D(x) (3��2��
.� ���E���2-* �����E#1�� �#�+���1���� =2�� � ���35�3D �2�=#��3+
=���2 P(�2�=�� 4���5�� �#��#>����3+ ������(Q /�� ����5����(#��� (��
��� /� �#���� 1/x 

��=���� σ̃(s) ��E�� )3�- /�����#(2��� ( (��� ����3 =��3��+ ��=��
��� ( ����(����(�� � =��3�-�� �)2#����� ��������� /�������3+ x1, x2

�#E�#� �� �)2#���� ����� �(�� ����=����� ��3�2Z

• ���
��� �* 0 < x1,2 < ∆* ����(����(��� ��)3��. ( ������� )32
��/�1�� ����� � 4���5��� ���-D� =�� ∆ �2� ����� (��)1� ��
��/���#2�� PX�/��5��Y ��)3���* ��=���� σIQ

• ���
��� ��* 0 < x1 < ∆,∆ < x2 < X2 max ^���� )32 ��/�1��
�#=#2-�3� 42�������� P��=���� σIIQ 

• ���
��� ���* ∆ < x1 < X1 max, 0 < x2 < ∆ ^���� )32 ��/�1��
�#=#2-�3� /��������� P��=���� σIIIQ 
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• ���
��� � * ∆ < x1 < X1 max,∆ < x2 < X2 max ^����3 )32� ���
/�1��3 �#=#2-�3� 42�������� � �#=#2-�3� /��������� P��=����
σIV Q 

����5�#2 /� �)2#��� K ��E�� )3�- (3=��2�� #�#2���=����* ����5�#�
23 /� �)2#���� KK?Ke )������ =��2���� ������� 6������#�2� 

<��2� ��5� �#� �/����2��# 4���5�� �#��#>�����5� �����#* ( �������
>����# �#�� ����2������� ��E����� /#�3 �����#2-�3+ �#���( <�2��
=���3� ( ����2-�#�� 4��5� ��#=���� ��/�2-��( � �52�( K0

L � K0
S ������(

� /���1-. /���)�#��(#��� �����># /����=��3(#.��� ( 2#)��#�����.
������� � /����#.��� ( /��5�#��� JIH7fKI 8%9: �2� ����2���(#���
�#�/#�# K0

S → π+π− � /��(������ =#���> =���� �������� 

0 /�����)�� ����������! ����
	�����	�

��
���	�)
��� ����	�! � 	������� ��

������ ����*��� ����	��

;������(����- ����������>�� ��)3��� �/��3(#�� (���������- ���
5�* =�� ��)3��� ���=#���5� /��>���# )���� /�#(�2-�� (����#��(2��� /���
5�#���� ����������>�� 

<�� 4������(����-. ����������>�� ��)3��� ( �#���� �#)��� /����
�#���� (���������- (����#��(2���� ��)3��� �#�/#�# K0

S → π+π−P�(�+
�����( � (��D��3Q ( ������(�� �#���� ��������# ;�# (�2�=��# �/���
��2�2#�- /� �����2�Z

εrec = ε1��ε��������,

5�� εrec ? 4������(����- ����������>�� ��)3���* ε1�� ? 4������(����-
����������>�� ����5� ����#* ε�������� ? 4������(����- ����������>��
(����5� ����# � (��D��3 

<��>����# �/����2���� 4������(����� ����������>�� ��)3��� �#�
�2.=#���� ( ���* =�� ��)3��� /��>���# e+e− → K0

LK
0
S (3��2����� )��

/��(2�=���� ������#>�� �� ������(�� �#���3 ��������#* # �#��� �/���
��2����� ���2-�� �#��+ ��)3��� )32� /�#(�2-�� ������������(#�3 (
������(�� �#���� 
2� �/����2���� 4������(����� ����������>�� ���
)3��� � /���1-. �#���� �������� ��)3��� ��)��#2��- � ��/�2-��(#�
���� ������#>�� � ��#=����+ #�����#2-�3+ � /�2���3+ �52�( �2#����
��( /����( � K0

L������# ( JTK��#2�������� �� /�2�=���3� �#��� �)�#�
��� X�����(3�Y �#)�� �����E#2 ��#=���2-��. ��2. ��)3��� /��>����(
e+e− → π+π−π0 � e+e− → K+K− �E����=���� ��2�(�� ��)��#* � >�2-.
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/��#(��- 4�� /�����-* /��(���2� �#�E� � /��#(2���. ��)3��� /��>���#
e+e− → K0

LK
0
S  
2� �(�2�=���� 4������(����� ��)��# X�����(3+Y ���

)3��� ��/�2����2-�� ���)�(#2��- �#2�=�� ( ������(�� �#���� ����5�
����#* ���1�5� �� �� ����# (����=� /�=��( � ���.1�5� ��/�2-�* �����
(����(�.1�� ��/�2-�� /���# ( �#�/#�� K0

S → π+π− 
��2�=��3 ε1��� � ε���� ���� �/����2�2��- � /���1-. X�����(3+Y ��)3�

���* (3��2���3+ ��52#��� �2���.1�� ��2�(���Z

• � ������(�� �#���� �#���� +��� )3 ���� ����* �������� �����
(����(�.� �2� ��#)#�3(#��� �)��+ �2��( R��#���3 �2� �2#���� (
JTK��#2�������� 

• 6����#2-��� �#�������� �� ����# ( ������(�� �#���� �� /�=�# (
R− ϕ /2������� )�2-D� =�� & &B �� � ���-D� =�� 9 A �� 

• ��/�2-� ����# ( ������(�� �#���� ���(2��(����� ��2�(�.Z

pmin(Ebeam) − 20.064�[� < p < pmax(Ebeam) + 20.064�[�,

5�� pmin,max _ �����#2-��� � �#����#2-��� �����#��=����� (���
��E�3� ��#=���� ��/�2-�# /���# �� �#�/#�# K0

S → π+π−* # (��
2�=��# /�2����5� �52# ����# ( ������(�� �#���� ���(2��(�����
��2�(�.Z

0.95 < θ < 2.2�#� 

• ���2� �2#�����( ( JTK��#2��������* �� �(��#��3+ � ������* �#(��
7 P/���/�2#5#����* =�� ���� �� �2#�����( /���#�2�E�� /����* #
(����� ? K0

L�������Q 

• 6#����#2-�#� 4���5�� �2#����#* /���/�2�E���2-�� /���#�2�E#�
1�5� K0

L�������* /��(3D#�� 9A& 64�* # ��#=���� /�2����5� �52#
(����5� �2#����# 2�E�� ( ��#/#����Z

1.0 < θ < 2.15�#� 

� ���)�#��3� �#��� �)�#��� ��)3���� /������2#�- �����#��=���#�
����������>�� �# ����(� �#���# ��+�#����� 4���5�����/�2-�# �2� /���
>���# e+e− → K0

SK
0
L(γ) → π+π−K0

L(γ)* ( /���/�2�E����* =�� �����
��2�=�� (��2- ��� /�=��( P��- RQ � ��#(�����* ���)�.1�5�* =��)3 ���
(#��#���#� �#��# �(�+ �����( ( (��D��� �#(��2#�- �#��� �����#2-��5�
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�#��#Z

p⊥1 cosϕ1 + p⊥2 cosϕ2 + pK0
L

sin θK0
L

cosϕK0
L

= 0
p⊥1 sinϕ1 + p⊥2 sinϕ2 + pK0

L
sin θK0

L
sinϕK0

L
= 0

p⊥1 ctg θ1 + p⊥2 ctg θ2 + pK0
L

cos θK0
L
± ωγ = 0√

p2
⊥1

sin2 θ1
+m2

π +

√
p2
⊥2

sin2 θ2
+m2

π +
√
p2

K0
L

+m2
K0 + ωγ − 2 · Ebeam = 0

⎛
⎝

√
p2
⊥1

sin2 θ1
+m2

π +

√
p2
⊥2

sin2 θ2
+m2

π

⎞
⎠

2

− (p⊥1 cosϕ1 + p⊥2 cosϕ2)2

− (p⊥1 sinϕ1 + p⊥2 sinϕ2)2 − (p⊥1 ctg θ1 + p⊥2 ctg θ2)2 −m2
K0 = 0,

5�� p⊥1,2 ? /����>�� ��/�2-��( /����( �# /2������-* /��/������2����.
��� /�=��(* θ1,2 _ /�2���3� �523 (32��# /����(* ϕ1,2 ? #�����#2-�3�
�523 (32��# /����(* pK0

L
, θK0

L
, ϕK0

L
? ��/�2-�*/�2���3� � #�����#2-�3�

�523 K0
L������# ����(����(����*mK0,mπ _ ��#=���� �#�� �����#2-��5�

�#��# � �#��E����5� /���# 87C: ����(����(����* ωγ ? 4���5�� �#��#>����
��5� �����# 
(����� ��#� /���� ωγ ( ����-�� ��#(����� ����(����(���
�(�� (����E�3� �#/�#(2����� �(�E���� �����# (��2- ��� /�=��(Z (
/�2�E���2-��� �#/�#(2���� � ( ����>#��2-��� �#/�#(2���� 

�+���3�� /#�#����#�� �����#��=����� ����������>�� �(2�2��- (��
2�=��# ��/�2-�# � �523 ����# ( ������(�� �#����* # �#�E� �523 �2#����
�# ( JTK �#2��������* /���/�2�E���2-�� /���#�2�E#1��� (������ �#�
��E������ /����* � �523 �2#����#* /���/�2�E���2-�� /���#�2�E#1���
K0

L������� P(��5� B /#�#�����(Q �3+���3�� /#�#����#�� �����������
>�� )32� (�2�=��3 ��/�2-��( � �523 �#��E���3+ /����(* (�2�=��3
��/�2-�# � �52�( (32��# K0

L������# � 4���5�� �#��#>�����5� �����#
P(��5� 9& /#�#�����(Q 

�# ��� 9@ /��#�#�� �#�/����2���� ��)3��� /� (�2�=��� χ2 �����#�
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S → π+π− 
�# ��� 9$*9B /��#�#�3 �#(�������� 4������(����� ����������>��

����# �� (�2�=��3 �5� ��/�2-�# � �� ��#=���� /�2����5� �52# �����
(����(�.1�5� �2#����# �����* =�� ( ���=#���� ��#/#���� ��/�2-��(
� (3)�#���� ��#/#���� /�2���3+ �52�( 4������(����- ����������>��
����# �� (�2�=�� ��/�2-�# � /�2����5� �52# �� �#(���� 

0.86

0.88

0.9

0.92

0.94

0.96

0.98

1

140 160 180 200 220 240 260 280 300 320

Pπ,MeV/c

ε re
c

0.86

0.88

0.9

0.92

0.94

0.96

0.98

1

0.8 1 1.2 1.4 1.6 1.8 2 2.2 2.4

θcl,rad

ε re
c

��� 9$Z M#(�������- 4������(�
����� ����������>�� ����5� ����#
�� (�2�=��3 ��/�2-�# 

��� 9BZ M#(�������- 4������(�
����� ����������>�� ����5� ����#
�� ��#=���� /�2����5� �52# �����
(����(�.1�5� �2#����# �������
/��#�#� (3)�#��3� ��#/#��� /��
2���3+ �52�( 

%&



!""���������� �������
 <�� �#)��� ��#�������* ��/�2-��(#����
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<�4���� ������(���� /�����#(��- 4������(����- ���55��# PεtrigQ �#�
/����(������ 4������(����� �����(�5� /��>�����# PεTF Q � 4������(�
����� JTK��#2�������# ( ����#(� ���55��# PεCsIQZ

εtrig = εTF · εCsI

;������(����- �����(�5� /��>�����# �/����2����� � /���1-. ���
)3���* ���)�#��3� ��52#��� ��2�(���* /���=��2���3� ( !2#(� %* ( ���
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�����(�� �#���3* #
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εCsI = 1 − (1 − επ)2 · (1 − εK0
L
),

5�� επ _ (���������- π������� �#�- 2������ � �#�#��3� 4���5�(3��2��
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1 Q 

�� ��+ �#��� (3��2�.��� ��)3���* ( �����3+ � �# X(�����Y ����� ���-
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L�B� HAJ7FK� G�?� HAJC� M�G� HA<8;FKFN� 6�?� HF>OAJ�

P�@� HF>OAJ:K� 6�@� HJAQ=> P�@� R8:J>NA7� G�S� P8AKA>� G�T� ?=O:D9A>�

U�@� V:OF;FK=;E8� M�T� UAWN<8:K� P�6� UFJWAE8:K� 6�6� UJ:W:>=C7�

P�M� UJ=QFJ=:K� @�X� YCQ8:<� V�@� TQ>A;FK� G�@� SAJZFK�

@�V� SAIA>=>� H�T� S8AI=>� T�6� SFFZ� [�[� SJF7FK>N�

L�B� SCJOAOI:� 6�G� SCI9=>� T�H� LFQA<8:>7F� [�6� LC7=>�

6�[� LN<:>7F� S�\C� B=78A=DFK� T�M� M:<;:J:>7F� @�G� ]78AZ7=>�

6�6� [FDC>=>� 6�G� [FZFK� H�L� 5FW:J;<� M�T� 5FF;� 6�6� 5CWA>�

M�B� 5N<7CDFK� 6�U� G8A9FK� \C�B� G8A;C>FK� H�6� G8^AJ;I�

6�L� G=W=OA>FK� @�6� G=OFJFK� 6�M� G7J=><7N� @�[� G9A78;=>�

T�U� G>FZ7FK� ?�[� GFDFOFK� [�\C� G;:ZA>FK� 6�T� GC78A>FK�

_�6� `8F9Z<F>� \C�@� \CO=>� G�U� aK:J:K
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